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1. RPC Ltd. follows the written down value method of 
depreciating machinery year after year by applying the 
principle of   
(a) Comparability (b) Convenience 
(c) Consistency (d) All of the above 
vkj ih lh fy- o"kZ izfr o"kZ”e’khujh ij âkl yxkus dh ewY; 

viys[ku fof/k dks viukrh gS bldk dkj.k gS& 

(a) rqyuh;rk   (b) lqfo/kk 

(c) lrr~rk   (d) mijksDr lHkh 

2. In the case of downward revaluation of an asset, which is for 
the first time revalued, _______________ account is 
debited.  
(a) Fixed Asset  (b) Revaluation Reserve 
(c) Profit & Loss account (d) General Reserve 
igyh ckj iquewZY;kadu djrs le; ;fn fdlh lEifÙk dk ewY; de 

gks tk;s arks fdl [kkrs dks MsfcV djsaxsA  

(a) lEifÙk   (b) iquewZY;kadu lap; 

(c) ykHk o gkfu [kkrk (d) lkekU; lap; 

3. Accounting Standards in India are issued by 
(a) Central Govt. 
(b) State Govt. 
(c) Institute of Chartered Accountants of India.  
(d) Reserve Bank of India.  
Hkkjr esa ys[kkadu ekun.Mksa dks tkjh fd;k tkrk gS 

(a) dsUnzh; ljdkj (b) jkT; ljdkj 

(c) Hkkjrh; pkVZMZ ys[kkdkj laLFkku  

(d) Hkkjrh; fjtoZ cSad 

4.  How many Accounting Standards have been issued by ICAI?  
(a) 25  (b) 20 (c) 32 (d) 28 
Hkkjrh; pkVZMZ ys[kkdkj laLFkku }kjk fdrus ys[kkadu ekun.M tkjh 

fd;s tk pqds gSA \ 

(a) 25  (b) 20 (c) 32 (d) 28 
5. The rent paid to landlord is credited to 

(a) Landlord’s account  (b) Rent account 
(c) Cash account (d) None of the above 
edku ekfyd dks pqdk;k x;k fdjk;k fdl [kkrs esa ØsfMV fd;k tkrk 

gS % 

(a) edku ekfyd dk [kkrk (b) fdjk;k [kkrk 

(c) jksdM [kkrk   (d) mijksDr esa dksbZ ughaA 

6. Prepaid salary account is 

(a) Personal  (b) Real 
(c) Nominal  (d) None of the above 
iwoZnr osru [kkrk gS %  

(a) O;fDrxr   (b) okLrfod 

(c) vokLrfod   (d) mijksDr esa dksbZ ugha 

7. Equipment is 
(a) revenue  (b) expense (c) asset (d) liability 
midj.k gS % 

(a) vkxe (R)  (b) O;; (E) (c) lEifr (a) (d) nkf;Ro (c) 
8. Journal and ledger records transactions in  

(a) A chronological order and analytical order respectively.  
(b) An analytical order and chronological order respectively.  
(c) A chronological order only 
(d) An analytical order only.  
tuZy rFkk [kkrk&cgh ysunsuksa dk ys[kk djrs gSa % 

(a) Øe’k% ,d le; Øe esa rFkk leh{kkRed Øe esa 

(b) ,d leh{kkRed Øe esa rFkk le; Øe esa Øe’k% 

(c) dsoy ,d le; Øe esa 

(d) ,d leh{kkRed Øe es gh dsoyA 

9. Ledger book is popularly known as 
(a) Secondary book of accounts 
(b) Principal book of accounts 
(c) Subsidiary book of accounts 
(d) None of the above 
[kkrk&cgh lkekU;r% ij tkuh tkrh gS % 

(a) [kkrksa dks xkS.k iqLrd (b) [kkrksa dh iz/kku iqLrd 

(c) [kkrksa dh lgk;d iqLrd (d) mijksDr esa dksbZ ugha 

10. “Debit the receiver and credit the giver” is the golden rule 
for which type of account?  
(a) Real A/c  (b) Personal A/c 
(c) nominal A/c (d) None of these 
ikus ds okys dks uke djks nsus okys dks tek djks fdl rjg [kkrs ds 

fy;s Lof.kZe fu;e gSA 

(a) okLrfod [kkrk (b) O;fDrxr [kkrk 
(c) ukeek= [kkrk  (d) mijksDr esa ls dksbZ ugha 

11. the trial balance checks 
(a) Arithmetical accuracy of books 
(b) The honesty of the book keeper 
(c) The valuation of closing inventory 
(d) None of the three 
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ryiV tkaprk gS& 

(a) iqLrdksa dh vadxf.krh; 'kq)rk       (b) iqLrikyd dh bZekunkjh 

(c) vfUre jgfr;k dk ewY;kadu       (d) rhuksa esa ls dksbZ ugah  
12. Trial Balance is a 

(a) Final Account (b) Statement of day books 
(c) Subsidiary book (d) None of the above 
ryiV gksrk gS ,d & 

(a) vfUre [kkrk  (b) nSfud iqLrdksa dk fooj.k 

(c) lgk;d iqLrd (d) mijksDr esa dksbZ ugh  
13. Trial Balance under balance method is known as:  

(a) Gross Trial Balance (b) Net Trial Balance 
(c) Simple Trial Balance (d) Trial Balance Appropriation 
'ks"k fof/k es ryiV tkuk tkrk gSA 

(a) ldy ryiV (b) 'kq) ryiV 

(c) lk/kkj.k ryiV (d) lek;sftr ryiV 

14. Goods outward journal is meant for recording all return of 
goods:  
(a) Sold on credit (b) Purchased on credit 
(c) Purchased on cash (d) None of the above 
eky okilh tuZy dks eky dh fdl okilh ds vfHkys[ku gsrq j[kk 

tkrk gSA 

(a) m/kkj fcdk eky (b) m/kkj [kjhnk x;k eky 

(c) udn [kjhnk x;k eky (d) mijksDr esa dksbZ ughaA 

15. Opening and closing entries are recorded in:  
(a) Journal Proper (b) Purchase Book 
(c) Sales Book (d) Bill receivable Book 
izkjfEHkd rFkk vfUre izfof"V;ka --------------------- esa fjdkWMZ dh tkrh gS & 

(a) tuZy ;k jkstukepk (b) Ø; cgh 
(c) foØ; cgh   (d) foi= izkI; iqfLrdk  

16. Purchase of Plant & Machinery on credit basis is recorded in 
(a) Cash book (b) Journal proper 
(c) Purchases  (d) Both (a) and (b) 
la;a= ,oa e’khujh ds m/kkj Ø;----------------------------------- esa ys[kk fd;k 

tkrk gSaA 

(a) jksdM+ cgh   (b) tuZy izkWij 
(c) Ø; cgh   (d) nksukssa (a) rFkk (b) 

17. Cash book is a type of ___________ but treated as a 
___________ of accounts.  
(a) Subsidiary book, principal book 
(b) Principal book, subsidiary book 
(c) Subsidiary book, subsidiary book  
(d) Principal book, principal book 
jksdM+ cgh ,d izdkj dh-------------------------------- gS ysfdu [kkrksa ds ,d ------

-----------------ds :i esa ekuh tkrh gSaA 

(a) lgk;d iqLrd] iz/kku iqLrd  (b) iz/kku iqLrd] lgk;d iqLrd 

(c) lgk;d iqLrd] lgk;d iqLrd (d) iz/kku iqLrd] iz/kku iqLrd 

18. Contra entries are passed only when 
(a) Double-column cash book is prepared 
(b) Three-column cash book is prepared 
(c) Simple cash book is prepared 
(d) None of the above 
foijhr ys[ks dsoy rHkh cuk;s tkrs gSa tc 

(a) nks [kkus okyh jksdM+ cgh j[kh tkrh gSa  

(b) rhu [kkus okyh jksdM+ cgh j[kh tkrh gSa 

(c) lkekU; jksdM+ cgh rS;kj dh tkrh gSa   

(d) mijksDr esa ls dksbZ ugha 

19. Petty cash balance is 
(a) Liability (b) Income (c) Expense (d) An asset 
[kqnjk jksdM+ cgh dk 'ks"k gksxk& 

(a) nkf;Ro  (b) dekbZ (c) [kpkZ   (d) lEifÙk 

20. In petty cash Book, the system followed:   
(a) Accrued System (b) Imprest System 
(c) Cash system (d) None of these 
[kqnjk jksdM+ cgh esa fuEu dh ikyuk dh tkrh gSaA 

(a) miktZu   (b) bEizsLV 
(c) jksdM+ vk/kkj  (d) mijksDr esa ls dksbZ ugha 

21. Rs. 1,200 spent on the repairs of machine is 
(a) Capital expenditure;  (b) Revenue expenditure;  
(c) Deferred revenue expenditure;  
(d) None of the above 
e’khu dh ejEer ij yxs 1]200 : 

(a) iwaWthxr O;; gS (b) vkxe O;; 

(c) vkLFkxr vkxe O;;  (d) mijksDr esa dksbZ ughA 

22. Whitewashing expenses are 
(a) Capital expenditure; (b) Revenue expenditure; 
(c) Deferred revenue expenditure; 
(d) None of the above 
iqrkbZ ds O;; 

(a) iWwathxr O;; gS (b) vkxe O;; 

(c) vkLFkxr vkxe O;;  (d) mijksDr esa dksbZ ughA 

23. Recovery of Bad debt is a:  
(a) Revenue Receipt  (b) Capital Receipt 
(c) Capital Expenditure (d) Revenue Expenditure 
Mwcr _.k dh okilh gSA 

(a)  vkxe izkfIr (b) iwathxr [kpkZ 

(c)   vkxe [kpkZ (d) dksbZ ugh  

24. Preliminary Expenses are an example of:   
(a) Revenue Expenditure (b) Capital expenditure 
(c) Deferred Revenue expenditure 
(d) All of these 
izkjfEHkd [kpkZ ,d mnkgj.k gSA 

(a) vkxe [kpkZ  (b) iwathxr [kpkZ  

(c) vkLFkxr vkxe O;; (d) mijksDr lHkh 

25. In the case of ____________, either outflow of resources to 
settle the obligation is not probable or the amount expected 
to be paid to settle the liability cannot be measured with 
sufficient reliability.  
(a) Liability  (b) Provision 
(c) Contingent liabilities (d) Contingent assets.  
-------------------- ds ekeys esa] ;k rks nkf;Ro ds fuiVku gsrq lalk/kuksa dk 

cfgxZeu laHkkO; ugha gksrk ;k nkf;Ro dks  fuiVkus ds 

fy;s pqdkbZ tkus okyh lEHkkfor jkf’k dks i;kZIr fo’oluh;rk ds 

lkFk ekik ugha tk ldrk gSA 

(a) nkf;Ro   (b) izko/kku 
(c) lafnX/k nkf;Ro (d) lafnX/k lEifr;k¡A 

26.  Municipal tax Rs. 50,000 under dispute is a 
(a) Current liability (b) Contingent liability 
(c) Revenue loss (d) None of the above 
50000 :i;s dk fookfnr uxj&ikfydk dj gS &  
(a) pkyw nkf;Ro  (b) lafnX/k nkf;Ro  
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(c) vk;xr gkfu  (d) mijksDr esa ls dksbZ ughaA 

27. Contingent Liabilities are shown:  
(a) As current liability       (b) As Capital fund 
(c) As footnotes to balance sheet (d) As Reserves 
lafnX/k nkf;Roksa dks n'kkZ;k tkrk gS %& 

(a) pkyw nkf;Ro ds :i esa (b) iw¡th lap; ds :i esa  

(c) cSysal lhV ds uhps fVIi.kh ds :i esa   

(d) lap; ds :i esaA 

28. On purchase of old furniture, the amount of Rs. 1,000 spent 
on its repair should be debited to  
(a) Repair account;  (b) Furniture account;  
(c) Cash account; (d) Bank account 
iqjkus QuhZpj ds Ø; ij mldh ejEer ij yxs 1]000 :- MSfcV 

fd;s tkus pkfg;s % % 

(a) ejEer [kkrs esa (b) QuhZpj [kkrs esa 

(c) jksdM [kkrs esa (d) cSad [kkrs esaA 

29. Sales of office furniture should be credited to 
(a) Sales Account;  (b) Furniture Account; 
(c) Purchase Account; (d) Cash Account 
dk;kZy; ds QuhZpj dks cspus dh jkf’k fdl [kkrs esa ØsfMV dh tkuh 

pkfg,A 

(a) foØ; [kkrk  (b) QuhZpj [kkrk 

(c) Ø; [kkrk   (d) jksdM+ [kkrk 

30. Sales to Ranjan Rs. 600 was not recorded in the book. This 
will affect  
(a) Ranjan A/c (b) Sales A/c 
(c) Neither (a) nor (b) (d) Both (a) and (b) 
jatu dks 600:- dk eky cspk ftlls iqLrdksa esa ugha fy[kk bldk 

izHkko gksxk 
(a) jatu ds [kkrs ij (b) foØ; [kkrs ij 
(c) jatu o foØ; nksuksa ds [kkrs ij ugha  
(d) jatu o foØ; nksuksa ds [kkrs ij 

31. Goods Purchased of Rs. 100 from N was not recorded at all, 
what will be its effect on the trial Balance? 
(a) Will tally  (b) Will not tally 
(c) Will have no affect (d) None of these. 
N ls 100:- dk eky [kjhnk ftls iqLrdksa esa ugha fy[kk] ryiV ij 

bldk D;k izHkko iM+sxk\  

(a) fey tk;sxk      (b) ugha feysxk 
(c) ryiV ij dksbZ izHkko ugha iM+sxk (d) mijksDr esa ls dksbZ ugha 

32. A Bank Reconciliation Statement is a: 
(a) Part of cash book    (b) Part of bank account 
(c) Part of financial statements (d) None of the above  
,d cSsd lek/kku fooj.k gksrk gS % 
(a) jksdM cgh dk ,d Hkkx (b) cSad [kkrs dk ,d Hkkx 

(c) forh; fooj.k dk ,d Hkkx (d) mijksDr esa dksbZ ugha 

33.  A Bank Reconciliation Statement is prepared by  
(a) The Bank   (b) The Government  
(c) The Bank Account holder  
(d) The user of financial statements  
cSad lek/kku fooj.k dks -------------- }kjk  rS;kj fd;k tkrk gSA 
(a) cSad   (b) ljdkj 

(c) cSad [kkrk/kkjd (d) for;h fooj.kksa ds mi;ksxdrk 

34. Credit balance in the cash book means ___________. 
(a) Overdraft as per passbook           

(b) Favourable balance as per passbook 
(c) Both (a) and (b)   
(d) None of the above 
jksdM cgh esa ØsfMV 'ks"k dk vk’k; ---------------------------------- gSA 

(a) ikl cqd ds vuqlkj vf/kfod"kZ  

(b) ikl cqd ds vuqlkj vuqdwy 'ks"k  

(c) (a) ,oa (b) nksuksa (d) mijksDr esa ls dksbZ ugha  

35. When balance as per Cash Book is the starting point, interest 
charged by Bank is:  
(a) Added in the bank reconciliation statement  
(b) Subtracted in the bank reconciliation  statement  
(c) Not required to be adjusted in the bank reconciliation 
statement  
(d) Neither of the above. 
tc jksdM cgh ds vuqlkj 'ks"k dks ysdj pyrs gSa rks cSad }kjk olwy 

fd;s x;s C;kt dks 
(a) cSad lek/kku fooj.k esa tksM+k tkrk gS 

(b) cSad lekkku fooj.k eas ?kVk;k tkrk gS 

(c) cSsd lek/kku fooj.k es afdlh lek;kstu dh vko’;drk gh ugha 

gksrh 

(d) mijksDr esa dksbZ ughaA 

36.  When preparing a bank reconciliation statement, if you 
start with balance as per cash book, then dividends directly 
collected by bank but not yet entered in cash book within 
the period are ___________. 
(a) Added     (b) Deducted 
(c) Not required to be adjusted (d) None of the above 

 tc ,d cSad lek/kku fooj.k i= rS;kj djrs le; ;fn vki jksdM iqLrd 

ds 'ks"k ls izkjEHk djrs gSa] rks cSad }kjk lh/ks laxzg fd;k x;k ykHkka’k tks 

vHkh rd vof/k ds Hkhrj jksdM iqLrd esa ugha fy[kk x;k gSa___ 
(a) tksM+k tk;sxk (b) ?kVk;k tk;sxk 

(c) lek;kstu djus dh vko’;drk ugha   

(d) mijksDr esa ls dksbZ ugha 

37. When balance as per Pass Book is the starting point, interest 
allowed by Bank is: 
(a) Added     (b) Subtracted 
(c) Not required to be adjusted (d) None of the above 
tc ikl cqd ds vuqlkj 'ks"k izkjEHk fcUnq gksrk gS rks cSad }kjk fn;k 

x;k C;kt % 
(a) tksM+k tkrk gS (b) ?kVk;k tkrk gS 

(c) lek;kstu dh vko’drk gh ugha gS 

(d) mijksDr esa dksbZ ughaA 

38. A company purchased a plant for Rs. 5000. The useful life of 
the plant is 10 years and the residual value is Rs. 500. SLM 
rate of depreciation will be. 
(a) 9% (b) 8% (c) 10% (d) None  

 ,d dEiuh us 5]000 :- dk ,d la;U= Ø; fd;kA la;U= dk 

mi;ksxh thou 10 o"kZ rFkk vo’ks"k ewY; 500 :- gSA àkl dh ljy 

js[kk fof/k esa nj gksxh& 

(a) 9 izfr’kr   (b) 8 izfr’kr (c) 10 izfr’kr  (d) dksbZ ughsa 

39. On 1st  January, 2006 A Ltd. purchased a machine for 
Rs.50,000 and spent Rs. 4000 on its carriage and Rs. 2000 on 
its installation. Its useful life is 10 years and scrap value is Rs. 
6,000. Depreciation for the year under fixed installment 
method will be: 
(a) Rs. 4,600 (b) Rs. 5,000 (c) Rs. 4,800 (d) Rs. 4,500 
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 1 tuojh 06 dks v fyfeVsM 50000:- ds fy;sa e’khu [kjhnrk gSA 

vkSj 2000 bldh LFkkiuk ij o 4000:- bldsa HkkMs ij [kpZ gq;saaA 

bldk mi;ksxh thou dky 10 o"kZ o vo’ks"k ewY; 6000:- gS LFkk;h 

fdLr i)fr ls o"kZ ds fy;sa ákl dh jkf’k gksxhA 

(a) 4600:-  (b) 5000:- (c) 4800:- (d) 4500:- 

40. Depreciation at 5% on office furniture of Rs. 8000; at 10% on 
plant and machinery of Rs. 80000 and at 5% on factory 
building of Rs. 200000 have been charged by the 
entrepreneur during the year. Total amount of depreciation 
will be: 
(a) Rs. 18400 (b) Rs. 18000 (c) Rs. 15000 (d) None  

 8]000 :- ds dk;kZy; QuhZpj ij 5 izfr’kr dh nj ls( 80]000 :- 

ds la;U= ,oa ;U= ij 10 izfr’kr dh nj ls( 2]00]000 :- ds 

dk;kZy; Hkou ij 5 izfr’kr dh nj ls àkl gSA dqy àkl --------------------

------------- gksxkA 

 (a) 18]400 :-   (b) 18]000 :-  (c) 15]000 :-   (d) dksbZ ughaa 

41. Which method of depreciation is suitable when expenditure on 
repairs and maintenance, increases as the machine grows old? 

(a) Reducing balance method   (b) Straight line method 
(c) Machine hour rate method  (d) Sinking fund Method. 

 e'khu dh c<rh gqbZ vk;q ds nkSjku ;fn ejEer o j[kj[kko ds [kpsZ 

c<+ tkrs gSa rks dkSulh fof/k mi;qDr ekuh tkrh gSa  

 (a) vifyf[kr ewY;  (b) lh/kh ákl fof/k  

 (c) e'khu ?k.Vk nj fof/k  (d) ewY; ákl 'kks/ku dks"k fof/kA  

42. Capital is the difference between:   
(a) Income and expenses      (b) Sales and Cost of goods sold  
(c) Assets and liabilities         (d) None of the above   

 iawth --------------------- ds chp vUrj gksrk gSA 

 (a) vk; rFkk O;;  

 (b)foØ; rFkk fcds eky dh ykxr 

 (c) lEifr rFkk nkf;Ro  

 (d) mijksDr esa dksbZ ughaA 

43. A new firm commenced business on 1st January, 2011 and 
purchased goods costing Rs. 90,000 during the year. A sum 
of Rs. 6,000 was spent on freight inwards. At the end of the 
year the cost of goods still unsold was Rs. 12,000. Sales 
during the year Rs. 1,20,000. What is the gross profit earned 
by the firm?  
(a)  Rs. 36,000 (b) Rs. 30,000 (c)  Rs. 42,000     (d) Rs. 38,000 

 ,d ubZ QeZ us tuojh 1] 2011 dks O;kikj izkjEHk fd;k rFkk o"kZ ds 

nkSjku 90]000 :- dh ykxr dk eky [kjhnkA vUr% HkkM+s ij 6]000 

:- dh jkf’k O;; dh xbZA o"kZ ds vUr es vHkh rd u fcds eky dh 

ykxr 12]000 :- FkhA o"kZ ds nkSjku foØ; 1]20]000 :- jgsA QeZ 

}kjk fdruk ldy ykHk dek;k x;k\ 

 (a) 36]000 :-  (b) 30]000 :- (c) 42]000 :- (d) 38]000 :- 

44. If Average inventory = Rs. 12,000. Closing inventory is Rs. 
3,000 more than opening inventory then the value of closing 
inventory will be 
(a) Rs. 12,000 (b) Rs. 24,000 (c) Rs. 10,500  (d) Rs. 13,500 

 vkSlr jgfr;k = 12]000 :-A vfUre jgfr;k izkjfEHkd jgfr;k ls 

3]000 :- vf/kd gSA vfUre jgfr;k dk ewY; gksxk& 

 (a) 12]000 :-   (b) 24]000 :- 

 (c) 10]500 :-   (d) 13]500 :- 

45. Cost of goods sold is  100,000 

Opening inventory  5,000 
Closing inventory  10,000 
Amount of purchases will be _______ 
(a) 105,000 (b) 120,000 (c) 95,000 (d) 130,000 

 csps x;s eky dh ykxr 1]00]000 

 izkjfEHkd jgfr;k     5]000 

 vfUre jgfr;k    10]000 

 dz; dh jkf’k ________ gksxhA 
 (a) 1]05]000  (b) 1]20]000 (c) 95]000   (d) 1]30]000  

46. What would be the amount of sales when opening Inventory 
is Rs. 20,000. Purchase Rs. 50,000 wages Rs. 10,000. Closing 
Inventory Rs. 20,000 and gross profit is 1/7th of sales.  
(a) Rs. 70,000 (b) Rs. 50,000 
(c) Rs. 60,000 (d) None of the above 

 foØ; dh jkf’k D;k gksxh tc izkjfEHkd LVkWd 20000:- gSA Ø; 

50000:-] etnwjh 10000:- gS] vfUre LVkWd 20000:- gS rFkk ldy 

ykHk foØ; dk 1@7 gSA 

 (a) 70000:-  (b) 50000:- (c) 60000:-  (d) dksbZ ugha 

47. Rent paid on 1st October, 2008 for the year to 30th 
September, 2009 was Rs. 1,200 and rent paid on 1st 
October, 2009 for the year to 30th September, 2010 was Rs. 
1,600. Rent paid, as shown in the profit and loss account for 
the year ended 31st December 2009, would be: 
(a) Rs. 1,200  (b) Rs. 1,600  
(c) Rs. 1,300  (d) Rs. 1,500 

 30 flrEcj 2009 rd ds o"kZ ds fy, 1 vDrwcj 2008 dks fn;k x;k 

fdjk;k 1200:- Fkk rFkk 30 flrEcj 2010 rd ds o"kZ ds fy, 1 

vDrwcj 2009 dks fn;k x;k fdjk;k 1600:- FkkA 31 fnlEcj 2009 

dks lekIr gq, o"kZ gsrq ykHk gkfu [kkrsa esa fn[kk;k x;k fdjk;k gksxk& 

 (a) 1200:-  (b) 1600:- (c) 1300:-  (d) 1500:- 

48. Mr. X draws a bill on Mr. Y for Rs. 30,000 on 1.1.2011 for 3 
months. On 4.2.2011, X got the bill discounted at 12% rate. 
The amount of discount will be:  
(a) Rs. 900 (b) Rs. 600       (c) Rs. 300       (d) Rs. 650 

 fe- X us fe- Y ij 3 ekg dk 30000 :- dk ,d fcy 1-1-11 dks 

fy[kkA 4-2-11 dks mlus fcy dks 12 izfr’kr dksa nj ls Hkquk fy;kA 

cV~Vs dh jkf’k gksxh% 

 (a) 900 (b) 600 (c) 300 (d) 650 
49. Parties to a bill of exchange are 

(a) Drawer  (b) Drawee 
(c) Payee  (d) All of the above 

 fofue; foi= ds i{kdkj gS& 

 (a) vkns’kd   (b) vknsf’krh  (c) izkid    (d) mijksDr lHkh  

50. On 10.05.2009 Ramesh draws a bill on Suresh for 4 months 
for Rs. 4,000. 13 September is a public holiday, due date of 
the bill will be:   
(a) 13 September, 2009 (b) 10 September, 2009 
(c) 14 September, 2009 (d) 12 September, 2009 

 10 ebZ 2009 dks jes’k }kjk lqjs’k ij 4000 : ds fy;s 4 ekg dk 

foi= fy[kk x;kA 13 flrEcj dks lkoZtfud vodk’k ?kksf"kr Fkk] ns; 

frfFk Kkr djsaA 

 (a) 13-09-2009   (b) 10-09-2009    
 (c) 14-09-2009   (d) 12-09-2009 

 


